Do now using like terms

Write this in your book
WALT - Multiply algebraic terms
Success Criteria - To multiply algebraic terms | know | need to multiply numbers and
multiply the numerals By taking the following steps
1. Leave or remove the multiplication sign between the pronumerals or variables
2. Remove the multiplication sign between the numbers and vaiables ( coefficient and
variable)

3. Separate numbers and variables and arrange them number first and then variable (
group them together)

4. Multiply the numbers and then write the variables in alphabetical order

Checking your understanding

1 Are the following true (T) or false (F)?
3 X a can be written as 3a.

k% 5 can be written as 5&.

2x 1s short for 2 + x.

44b could also be written as 4a + A.
g X g can be written as 92

L+- I — T v T~ o - |

Simplify the following.

a pXs b pXp ¢ IpXs d 5X2k e 3pX2s [ 4pg X 3ps
a pXs=ps (leave out the multiplication sign between the pronumerals)
b pXp=pporp’
c 3pXs=3XpXs=3ps (leave out the multiplication sign between the numbers and pronumerals)
SX2k=5X2Xk (split into numerical and pronumeral parts)
=10 X k= 10k

IpX2s =3XpX2Xs (split into numerical and pronumeral parts)
=3X2XpXs (group the numbers together and the pronumerals together)
=6 X ps = 6ps

[ 4pg X 3ps =4 XpXgX3XpXs  (splitintonumerical and pronumeral parts)
=4 X3IXpXgXpXs (groupthe numbers and pronumerals together)
=4X3IXpXpXgXs
= 12 X p’qs = 12pgs



https://www.transum.org/Maths/Activity/Algebra/Collecting_Like_Terms.asp

1 Complete the following to simplify.

a StXw=_ X _  Xw=___ b 4X3Im=4x_ X =
e TyX2=__ XyxX___ d 3p*X7g=__Xp'X X g
=_ X_ Xy=__ =_ X_ Xp*Xg=__
e 2abX3a=_ XaXbX__ Xa
=_ X__ _XaXaXb=__
2 Simplify the following.
a 4dxXy b 3kXm e xX5y d 4X 7w
e 5xdk f 6x10p g X8 h 62X3
i 3mXdn i 6vX2w k 4p* X 7gq 1 3a X 6b?
m 4ab X 5¢ n 3xz X 6xy 0 10pg X 2gr p 5be X 7bc
q 2X3axX4b r 2a X3bXd4e S 4p X 5g X 2r t 3aX4aXic
Simplify the following. Remember: When multiplying two integers:
a —5 %3 If the signs are the same, the answer is positive. (@8-~
b —acids If the signs are different, the answer is negative.
a —5X3=-5X3xXt¢t b —2mX —-3n=-2XmX—-3Xn
= —15¢ =-2X-3XmXn
= 6mn
3 Simplify the following.
a —2X5x b —5X4y c —6X 2w d —4X —82
e 4X —3m f 10X -8 g —3mX2n h 4a X —5b
i —6xxX~—2 j —9%¢ X —2t k —4p? X 6q 1 —5aX8a
m —2p X —5p n 4mn X —2mp 0 —Sabc X —6b p —Tmn X 4kn
Check your
answers 1TasdXtXw=35w
bd4X3Xm=12m
e THXyX2=TX2Xy=14y
d3iXp XTXg=3XTXp Xg=21pyg
e2XaXbX3Xa=2X3XaXaXb=6ah
2 a 4xy b 3km c Sxy
d 28w e 20k f 60p
g 16t h 18z i 12mn
i 12vw k 28p'q 1 3ab?
m 20abc n 18x%:z o 20pg*r
p 35b¢ q 24ab r 24abe
s 40pgr t 36a’c
3 a—10x b —20y ¢ 12w
d 32z e —12m f —80p
g —6mn h —20ab i 12xy
i 18st k —24p’qg 1 —404°
m 10p* n —8m'np o 30ab’c
p —28kmn’




Multiplying terms with squares

Simplify 3xy X 5xz.
Solution Explanation
Jey X Sxz=3XxXyX5XxX2 Wirite the expression with multiplication signs
=3X5XaxXaXyxz and bring the numbers to the front.
= 15x%yz
Simplify, remembering that x X x = x°.
Simplify the following.
8 xXx b axa C 3dxd
d 5dx2dxe @ Txx2yxx f Sxyx2x
g 4xyX2xz h 4dabex 2abd I 12xy X 4x
] 9abx2a kK 3xyx2xx4y | 2abx4ax 35
Write each expression without a division sign.
a t+4 b x+5 C 2g+5 d 32+10
e S5+a f a+é g x+y h 12+¢ i—isthesame
ask+4.
Check your answers
a x? b 2* ¢ 34° d 104%
g 14x%y f 10x% g 8x'yz h 8a’b%cd
I 48x%y j 18a% k 24x%y? | 24a%%*
& x 2g 3
a b s c - d 10
5 12
g2 i = g £ L
a & ¥ g

Extension Activities




12 Marcela buys 7 plants from the local nursery.

a If the cost is $10 for each plant, what is the
total cost?

b If the cost is $x for each plant, write an
expression for the total cost in dollars.

¢ If the cost of each plant is decreased by $3
during a sale, write an expression for:
i the new cost per plant in dollars
ii the new total cost in dollars of the

7 plants.

13 Francine earns $p per week for her job. She
works for 48 weeks each year. Write an
expression for the amount she earns:
a8 in afortnight
b in one year (of 48 weeks)

C in one year if her wage is increased by $20
per week after she has already worked
30 weeks in the year.

14 Tom would like to purchase some DVDs of

two television shows.

a8 Write an expression for the total cost of:
i 4 seasons of Numbers
il 7 seasons of Proof by Induction
ili 5 seasons of both shows
iv all 7 seasons of both shows, if the final
price is halved in a sale.
b If #1s 20 and 4 is 30, how many DVDs could
he buy for $200?

$ a per season




Towels cost $¢ each at a shop.

a8 John buys 3 towels, Mary buys 6 towels
and Naomi buys 4 towels. Write a fully
simplified expression for the total amount
spent on towels.

b On another occasion, Chris buys # towels,
David buys twice as many as Chris and
Edward buys 3 times as many as David.
Write a simplified expression for the total
amount they spent on towels.

a Make a substitution to prove that 4z + 34 is not equivalent to 7a#.

b Is 4a + 34 ever equal to 7ab? Try to find some values of 2 and 4 to make 4a + 36 = 7ab a true
equation.

¢ Is 4a + 3a ever not equal to 74? Explain your answer.

Check your answers



